R6 XA 11./1~7

MR CKYLTRIZHAIENTENVET , S TETILY,

< FFfEEI >

'S

1
11B 1B (&) | 11B 5B (XK)|(11B 6B (k)| 11B 7B (7K)
14 24 34 14 24F 3% 14 24 34 14 24 34
8:35~ | #MEFI | REBEE HRAPEE| FiE RIEEGE ([tHALIER| HEFA . N=] EOID | RERERE Rz BEAOD |[s:35~
1B 1850
9:2501-1. #RIE=E, 2|2—1. $5 BRI =4 3-1 1-1 2—1, R =4 3-1 1-1, BRIEE, 2 AEEE 3-1, $ A1 =ES 1-1 2-1 3-1. = RI1%E=ES 9:25
9:30~ wE | BRRE | XFEFE| BF1 | BEERE | Rl A HFID | XFEE| o#f% | EFEE | @wEEFE |90~
21 HF 21 B
10:20 HREEE 2-1 3-1. BRI ES|1-1. SR E 2 2-1 3-1. B BIZES 1-1 2—1 R =4 3-1. $ R =S 1-1 2-1 3-1, 45 A ES 10:20
1030~ | B EOI el N ERI eS| BRI | XFEE | F#RA |HRAOEE| EII EIRB  [10:30~
csrdics 3KHF
11:20 BEE 2—1, ¥R =431, $RIEES HREEE TiESHE 31, 4FRIE=ES PCZE 2—1 4R E4 TEESE -1 BREEL 221, BRI%E4  TIiESER 11:20
1125~ | BEI1 | X¥EFE| ZE3I | EIRD *a BRI | HEBRE | FEIRA LHR LHR EIRB  [11:25~
45 B 4B
12:15 TRE 2—1 4551 =431, BRI ZES|1-1. 5% =1.2| TiLSHR AKEE PCE 2-1 Tt R 1-1 2—1 TSR 12:15
. D DEERE DExfE o
S5 FF S
13:50] 1-1. #5211 2| 2— 1. BRI =4 3-1 1-1, $BIZE, 2 2-1 IGE . ) A KB 1-1,2-1, PC=|[1-1, 2-1, PCZE 3-1 13:50
—- - . —- . . JEE% SR gz |BEMEIER | BEANER
1355~ | SEBXE N EIRA | 888xxE | #=F 1 EIRA BURRER LHR  |[13:55~
. D EEME D EEE n
61 BF ORHF
14:451-1. #3%=1. 2| AKBEE FTas®E |- susE 2 2—1. BRI%E4]  TRSE 3-1 1-1.2-1,PCZE|1-1,2-1.PCE 3-1 14:45
2% 3%
- 357 [ —] . 3 g 3
[EBRZREDEAHKE] EiR 1 ER T EiRA EiRB
B BT ® B BT ® B BT ® B =Ty
EERE HRlZEL | H/E-RRI 2-1 FERWTO 3-1 HARIER 3-1
=B 2-1 REER WAR=E EEME BRE HEEE A2 =ES
BHEI BEEE  |NEGUERE| =SBE |ExdslABI PCE T—RTHA4Y| #HWIRE
coremnrtomR| MRS E%%;I%&A PC=E #HERUER] =EBE




